4 5 | 6
[ REVISIONS
REV.| ZONE |[DESCRIPTION DATE  |APPV'D
A Original Issue 15/03/2022 | HW
PLAN VIEW
1M
X X X X X X X X ]
X x x x x x x x ]
S S
nl | n
x X X X X X X X = 5 o~ ] o~
0
=3
o~ N
D
2 t —
n o~
=)
A E X X X T e X X X X g 3
[¥al
e -1 4

7

I

FRONT ELEVATION

0000000

91

SIDE ELEVATION

260
ofl_Jo =
- 2K
S 0 fATERIAL = 2 Time Carpark Barriers - Rhino-Stop® Screen
gl g — =1 SafeDirection| rhinostop® Screen Type 5, 2500mm High
200 o ]
s )
SECTION A-A STATUS|  NAME DATE_ |SREss Gt e S5 catons na e copyrion e re | General Arrangement
Base Plate Detail DRAWN | W. Roguiski | £/03/2022 |Iiauetes'es oriea anolly or on port sitoct wriion purmission. '
SCALE 120 D [T Colquhoun | 15/03/2002 |40 jamces cme, poaer)  SD-CP-06005 A [ AL
APPVO|H. Wallace | 15/03/2022 |STATUS: APPROVED WEIGHT263.9kg | 297, 5 SCALE: 1:40 [SHEET 1 of 7

L

E\SDSYD\SD\AsFembly\SD—(P Carpark Bzrr\srs\SD—(F’S—OEOOO RhinoStop Screen\SD-CP-06005 - RhinoStop Screen T

ype 5, 2500mm6H|gh\ riday, 1 April 2022 2:28:52 Pl



3 5 6

| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
1 | GR-PB-IS-2360-AG Rhino-Stop® Screen Post 2360mm high 352
2 | GR-WB-SR-4000-CG | W-Beam Guardrail 4.0M NLL, 1.0M CTRS 433
3 | GR-FS-20-0187-HG FISCHER FBN I, M20x187mm 0.5
4 | GR-FS-16-0050-MG M16x50 POST Hex Bolt & Nut Assy 0.2
5 | GR-FS-16-0032-MG M16x32 SPLICE Hex Bolt & Oversize Nut Assy 0.2

Stage

1. Post and Rail Assembly

{ATERIAL = k] Tme Carpark Barriers - Rhino-Stop® Screen
e 71 SafeDirection| rhinoStop® Screen Type 5, 2500mm High
L .

STATUS| NAME DATE %mﬁ! rp‘lahr:ss arﬁsesr;:éjlhcahons and theA:Eyﬁwsgihtﬁge:’e?r? aﬁrﬁel' General Arrangemenf

. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
DRAWN |W. Rogulski 4/03/2022 |reproduced or copied wholly or in part without written permission
cHk |T. Colquhoun | 15/03/2022 |UNe" Joiamnces. siam T ANGLE SD-CP-06005 A | AL
APPYDH. MWallace | 15/03/2022 |STATUS: APPROVED WEIGHT263.9k G| Jfiuine | SCALE: 1:25 | SHEET 2 of 7

L

E\SDSYD\SD\AsFembly\SD—(P Carpark Bzrr\ers\SD—(F’S—%OOO RI

inoStop Screen\SD-CP-06005 - RhinoStop Screen Type 5, Zsbﬂmméﬂgh\

riday, 1 April 2022 2:28:52 Pl




| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
GR-EA-30-6000-BG Mesh Support Angle 6.6
GR-RH-SR-5025-AG | RHS 50x25x2.0mm, 8000mm Long Galvanised AS1163-C350 17.2
GR-FS-08-0040-MG | M8x40 Square Neck Small Cup Head Bolt & Nut Assy 0.0
GE-FS-08-0000-AG M8 Plain Washer Class 4.6 HDG
GR-FS-10-0050-HG M10x50 Hex Head B&N Galvanised 0.0

\\\
~ \ i

~

Stage 2a: Mesh Panel Support Elements Assembly

{ATERIAL = k] Tme Carpark Barriers - Rhino-Stop® Screen
S— 7 SafeDirection| rhinoStop® Screen Type 5, 2500mm High
L U'\-"! i,

STATUS| NAME DATE %mﬁi rp‘lahr:ss arﬁsesr;:éjlhcahons and theA:Ey;r\Sgihtﬁge:’e?r? aﬁrﬁel' General Arrangemenf

. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
DRAWN |W. Rogulski 4/03/2022 |reproduced or copied wholly or in part without written permission S D EP 06005 A A [',
o [T Colquhoun | 15/03/2002 |00 [ogis s, i e -CP-
APPYDH. MWallace | 15/03/2022 |STATUS: APPROVED WEIGHT263.9kg_ | Jgiuiwe | SCALE: 1:30 | SHEET 3 of 7

1 2 | 3 | l. E\SDSYD\SD\AsFembly\SD—(P Carpark Bzrr\ers\SD—(F’S—%OOO RhinoStop Screen\SD-CP-06005 - RhinoStop Screen Type 5, Zsbﬂmméﬂgh\ riday, 1 April 2022 2:28:52 Pl



Mesh Support RHS Rail
fixed with 2 bolts.

RHS butt-joint located
at centre of Post —

DETAIL C
SCALE 115

Both Mesh Support RHS Rails
fixed to Post

DETAIL D
SCALE 115

\
) -
W

\

All RHS & Angle Mesh Support Rails
MUST be installed with the butt-joint
located at centre of Post, and fixed to
Post with 2 bolts at all Post locations.

o \ \
\ \ \

A

Stage 2b: Mesh Panel Support Elements Assembly

{ATERAL = 2 Time Carpark Barriers - Rhino-Stop® Screen
e 2 SafeDirection| rhinoStop® Screen Type 5, 2500mm High
v ) :
LF )

STATUS|  NAME DATE  |SPETRGI ALCOlts oseruad vons snd the comuriont oeton o General Arrangement

pRAwN |W. Rogulski | 4/03/2022 |Mesrimetesor oieaenaty or m port winacr wiian parmsaon |*4° " REVISON SHEET SIZE
DETAIL B oo [T Colauhoun[15/03/2072 |10 AR v peg|  SD-CP-06005 A | Ak
SCALE 115 - WEIGHT: D0 NOT SCAL

APPV'DH. Wallace | 15/03/2022 |STATUS: APPROVED '263.9kg 170 0T A SCALE: 1:30 [ SHEET & of 7

1 2 3 | l. E\SDSYD\SD\AsFembly\SD—(P Carpark Bzrr\ers\SD—(F’S—%OOO RhinoStop Screen\SD-CP-06005 - RhinoStop Screen Type 5, Zsbﬂmméﬂgh\ riday, 1 April 2022 2:28:52 Pl



3 | 5 6
ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
- 11 | GR-MX-MX-2411-AG | Mesh Infill Panel 2400x1100, @4 wire, #1x9 aparture [N
- 12 | GR-FS-08-0000-AG M8 Square Hole Mesh Washer 0.0

13 | GR-FS-12-0035-TG

12g x 35mm Hex Head Screw Self Tapping, 10 tpi, Class5, B8 Coating

i
i
il
\ ““‘“‘N\ﬂnu!m
il
mw}
il
il

~

Stage 3a: Mesh Panel Assembly

f TITLE: . .
NHHH““ FATERAL 3 - 2 ™ Carpark Barriers - Rhino-Stop® Screen
RS == SafeDirection| rinestop® Screen Type 5, 2500mm High
@ 7) ,
£ Iy, 1
COPYRIGHT AL right d ABN: 53 156 459 684
STATUS| NAME DATE These drawings, rp‘lansS ;ﬁsesr;:clhcanons and the copyright therein are General Arrangemenf
. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
DRAWN |W. Rogulski 4/03/2022 |reproduced or copied wholly or in part without written permission
cHk |T. Colquhoun | 15/03/2022 |UNe" Joiamnces. siam T ANGLE SD-CP-06005 A | AL
APPVD|H. Wallace | 15/03/2022 [STATUS: APPROVED WEIEHT-263.9kg 170 0T A SCALE: 1:30 [ SHEET 5 of 7
L E\SDSYD\SD\Amzmers\ﬁ]—(%—%ooﬂ RAINSTop Screen\oD-CP-06005 - RhinoSfop Screen Type 5, ZSOOMH\éﬂgh\ Tiday, 1 April 2022 22652 P




1 2 3 5 5 6
I
Mesh Panel Mesh Panel Mesh Panel
E
.01 L W s o e . .
i% - - [E - B - %%2 [ i ' a i i1 8 i1 8 i1 i i ]
“ | —= 5 T T - T - T v, —
5 B o) :,3 —= = T = = i = T T —
)
)
ﬂ HS BS e B
V = = o o s
q ® ]
w Mesh Mesh
Panel Panel
Lx equispaced fasteners per Mesh
Panel on each RHS support rail. —]
Fastener located between Mesh Panels, with
Profiled Mesh Washer lapping both Mesh Panels.
F - e TYP
i — L} — I — || Eslil=E
v
A Lo &
|
8x equispaced fasteners per DETAIL F Mesh Panel Assembly Notes:
Mesh Panel on Guardrail SCALE 15 1. Position first Mesh Panel in Portrait orientation, resting on bottom EA support rail.
2. Position adjacent Mesh Panels with a 5-10mm gap fo allow for fixing screw between each Panel.
3. Fix Mesh Panels as indicated in Detail E and Detail F views.
4. Each Mesh Panel to be fixed with 28x Self Tapping Screws and Profiled Mesh Washers.
Stage 3b: Mesh Panel Assembly
fATERIAL . = 2 Time Carpark Barriers - Rhino-Stop® Screen
R = SafeDirection| rhinostop® Screen Type 5, 2500mm High
.:_. .\-_.. i
DETA”_ E STATUS| NAME DATE %mﬁ! rp‘lahr:ss arﬁsesr;:éjlhcahons and theA:Eyﬁwsgihtﬁge:’e?r? aﬁrﬁel' General Arrangemenf
DRAWN |W. Rogulski 1/03/2022 | e properties of Safe Direction Pty Ltd, and must ot be used,  [DWG ND REVISION: [SHEET SIZE
SCALE 115 . reproduced or copied wholly or in part without written permission
cHk |T. Colquhoun | 15/03/2022 |UNe" Joiamnces. siam T ANGLE SD-CP-06005 A | AL
APPYDH. MWallace | 15/03/2022 |STATUS: APPROVED WEIGHT263.9k g | Jfiuine | SCALE: 1:30 | SHEET 6 of 7
1 2 3 L E\SDSYD\SD\Amzmers\ﬁ]—(%—%ooﬂ RAINSTop Screen\oD-CP-06005 - RhinoSfop Screen Type 5, ZSOOMH\éﬂgh\ Tiday, 1 April 2022 22652 P



gl nmwu II
IIIIIIII II
IIIIII IIII III

I|1I|I||I|||

<l

I IIIIIII IIIIIIIIII IIIIIIIII
|||ml||w il II|‘I||I|I|| el |ln||

<
I|I||

gl ' s ‘,‘. '
III
|||III,I IIII||I

III
|I

! i

uumn II

||||||I||H
W II
||II| ||II |II||I||I||
||| il ||||||
il | il |I |||I|
I IIII IwwI I II\:IIIIIIIIIquIuI:II h nm il
I | I|II| |II||I |IIIIII
||| || ||||
||||||
|I I ‘
II |I |I||I |I||I|||I||I
|| | | i |||||||||||I|II|I||I
I
||||||||| |I||||||I|||
||||||||||||
||||| i |||
I |||||||I|||||
uuwm II

II
it

|||||I I

gl I|n

III|| IIII ||IIIIIIIIIIII
IIIII| |II||II|II IIIIII|II
il uuuu

" I ‘"III””

il I
Nr il

|II

|||||| ||||||||||||| ||||

il llIIIIIII‘II II“I‘II‘FI“I ‘II‘II

|iii” ||| |||I||I
||||!|||

|
il III‘IIr

St
age
b
Final A

sse

mbl

y

‘ III
II I I i IIIIIII |||I
}IIIIIIII!IIIIII |I|I| |IIIII| I |I IN IIIIIIII IIIIIIIIIIIIII IIIII II IIIIIIIIIIIIIIIIIIIII il
g III”” II
|| |||||| ||||
H II I| HHHI il H
ATER)
7
FINIS
H:
STA
TUS|
DRA
WN NAM,
CHK W E
D -R
APP T ogulski F‘
v - Col ki D =~
H. IW cILIh0 L IATE S
s I
b 5101 o afeD
/03 22 rE"qu""Erwc'”gs rign: i
720 UNG: b ‘oplans e 1 r
22 oL o éisf Lesenag B 3
AT *‘D'jgjffz Shﬂ‘fsepcer?;"(an I:'I: i -
S: ions y"rv”PU”s O TLE:
 Limm o et > nd , A5 n R. -
N:_m i <oy 31 o3
m t Wm”*'rn@“' 56 4 hln rpa
APPRO i p;.:“: w OSIol;I&o —
VED T oG qrere
[r,g/ég NO reen Rhino
WE/EHrZSD General TyPe_SSIUFl@ S
: - A ' cr
63'9mtp‘060rra“gem 2500
oo 0 ent Hi
Jor S 5 gh
/NELEI RE
S v
CALE: 1:20 XON: SHEET
: -
SHE A :
ET A
7
of
7

L

G\
SD:
SY
s
D\
—
embl
I
S
=7
Carpark
Ba
—
Y
D
-
5"
00

R

—
toj
P S
oo
ol
D
-
-
05
~ RhnoST,
5
ree
n
-
ype
B
5%
Om
m
éI"]h\

=
y, 1

Tor 707

7

221

8:5.

2

P




	Sheet1
	FRONT ELEVATION
	PLAN VIEW
	SIDE ELEVATION
	Section View A-A

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View9
	Detail View B (1 : 15)
	Detail View C (1 : 7.5)
	Detail View D (1 : 7.5)

	Sheet5
	Drawing View4

	Sheet6
	Drawing View14
	Detail View E (1 : 15)
	Detail View F (1 : 5)

	Sheet7
	Drawing View5


